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KANGOUROU MATHEMATICS COMPETITION
Level 5-6

ATOVTNOTE TIG TO KAT® £PMTNOCELS EMAEYOVTOS Lo amd TG TEvTe EMA0YEG. MeTapEpeTe Tig
OMOTEG UMAVTIGEIS GTO PUALO OTAVTICEDV GOC.

Answer the following questions by choosing one of the 5 choices. Transfer the correct answers
into your answer sheet.

| 3 povaseg - 3 points |

# 1. Ilowo oynpa €xet to picd oKGUEVO;
Which figure has one half shaded?

(A) (B) (© (D) (E)

# 2. H oumpéia pov €xer to KANGAROO ypappévo 610 mive Pépog g, Onmg Qoivetal otnv
ewova. [Tow amod Tig To KAT® €1KOVEG OeV delyvel TNV OUTPELA LOV;

My umbrella has KANGAROO written on top. It is shown in the picture. Which of the
following pictures does not show my umbrella?

©n
BT

(A) @(B) @ (€) 4@ (D) @ (E)

# 3. O Sam ypoudrice Ta 9 TeTpdymva LE TO YPOUATA Lovpo, dompo Kot Ykpilo , 0T
eaivetat. TovAdyloto moGa TETPAyVa YpeldleTal vo xpouoticel Eava doTe va. unv vedpyovy
OV0 TETPAY®OVA [LE KOV TAEVPA TTOL VO EXOVV TO 1010 YPOUA ;

Sam painted the 9 squares with the colours black, white and grey as shown. At least how many
squares does he need to repaint so that no two squares with a common side have the same
colour?

(A2 (B)3 (4 (D)5 (B)6
# 4. Yrdapyovv 10 mamieg. O 5 amd avtég yevvovv Eva avyo ke pépa. Ot Ghieg mévte yevvoov
éva owyo kabe devtepn pépa. Ildca avyd yevvoov ot 10 mamieg og mepiodo 10 nuepmv;
There are 10 ducks. 5 of these ducks lay an egg every day. The other 5 lay an egg every second
day. How many eggs do the 10 ducks lay in a period of 10 days?

(A)75 (B)60 (C)50 (D)25 (E) 10
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KANGOUROU MATHEMATICS COMPETITION
Level 5-6

# 5. 10 oyfuo eaiveton vag mivakag 6mov kaOe uikpd teTpdymvo éxet epPads 4 cm?. Iloo

£fvor To LAKOG TNG HOPNG YOVTPNG YPOUUNG _
The figure shows a board where each small square has an area of 4 cm? What is the length of
the thick black line?

(A) 16 cm (B) 18 cm (C)20cm (D) 21cm (E) 23 cm

# 6. oo amd Ta To KAT® KAAoUATO, EivVal LKPOTEPO TOV 2;
Which of the following fractions is smaller than 2?

(A) 19/8 (B) 20/9 (C) 21/10 (D) 22/11 (E) 23/12

- Dita

#1. A A
IT660 givar o Bapoc g Dita;
How much does Dita weigh?

(A) 2 kg (B) 3kg (C) 4 kg (D) 5 kg (E) 6 kg

# 8. O ITétpog kortdlet pe peyebuvtikd Qoo ce dloPoPETIKA PEPT eVOG oyedi0L GTO TOlYO.
[Tota givar 1 ewcdvo oL dev pmopel vo det;
Peter looks through a magnifying glass at different parts of a drawing on a wall. Which is the

picture that he cannot see?

(A) Sy (B) @ (©) @ (D) D (E) ©

#9. To k4B puto 61OV KNTO TOL ['1AVVN €xet glte 5 VAR, 1 2 OAA Kal £va, AOVAOVL. ZTO
GOVOLO TOVG TOL PUTA €YoV 6 AovAovdta kat 32 VAL, [Toca PLTA VIEdPYOLV;

Each plant in John’s garden has either 5 leaves, or 2 leaves and 1 flower. In total, the plants
have 6 flowers and 32 leaves. How many plants are there?

L\
(A) 10 (B) 12 (C) 13 (D) 15 (E) 16
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KANGOUROU MATHEMATICS COMPETITION
Level 5-6

# 10. O Avtpéag €xel 4 Awopideg omd xapti Tov 1iov unKove. KoAld 600 and avtég pali pe
10cm emkdAvym kot moipvel o Aopida prrkovg 50 cm. Me tig dAleg dvo Awpideg BELeL va
KOTOOKELAGEL Awpida piKovg 56 cm. [16co pnkog Ba mpémet va £xel 1 emKAAVY;

Alva has 4 paper strips of the same length. She glues 2 of them together with a 10 cm overlap,
and gets a strip 50 cm long. With the other two paper strips, she wants to make a strip 56 cm
long. How long should the overlap be?

| 10ecm

| 10 cm |

| | 50 cm

(A)4cm (B)6cm (C)8cm (D) 10 cm (E) 12cm

4 povadeg — 4 points ‘

# 11. O Oavdong ypnoyomoince 6 teTpdymva TAevpdg 1 Hovadag yio vo KOTOGKEVAGEL TO
GYNHO TOL QaiveTol ot €1KOVa o Katw. [To1d eivon 1 mepipetpog Tov oynpaTog;

Tom used 6 squares with side 1 to form the shape in the picture. What is the perimeter of
the shape?

(A)9 (B) 10 (©) 11 (D) 12 (E) 13

# 12. KaOe pépa n Mapia ypaeetl v nuepounvia kot vroroyilel to dfpoioua tov yneiov wov
ypboovtal. o mapdderypa, otig 19 Maptiov ypdoet 19.03 kot vroroyiler 1 +9+ 0 + 3 =13.
[Toto eivar 10 peyodvtepo aBpoisa ToL VTOAGYIcE 6T dtdpKeLa EVOS £TOVG;

Every day Mary writes down the date and calculates the sum of the digits written. For
example, on March 19 she writes 19.03 and calculates 1 + 9 + 0 + 3 = 13. What is the largest
sum that she calculates during a year?

(A) 7 (B) 13 (C) 14 (D) 16 (E) 20

# 13. To opBoydvio ABCD oty eikdva amotereitan and 4 ica opBoydvia. Av 1 BC éyet pniiog
1 cm, moto &ivar to pnKog e AB;

The rectangle ABCD in the picture consists of 4 equal rectangles. If BC has length 10 cm,

what is the length of AB?

A B
10 cm
D C
(A)40cm (B) 30 cm (C) 20 cm (D) 10 cm (E)5cm
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KANGOUROU MATHEMATICS COMPETITION
Level 5-6

# 14. Tlo1o amod ta mo kdte 5 avartdypato dev uropel va gival To avdmtoypo pog Topapidoog;
Which of these five nets cannot be the net of a pyramid?

(A) (B) (©) (D) (E)

# 15. X 086 EAevBepiag vdpyovv 9 onitia ot ypappr. Tovidyioto éva dtopo (et og kbbe
onitl. Xg omoladnmote dVO yertovikd omitia katotkovv pali To mold €61 dtopa. Ilotog eival o
UEYOADTEPOG aPOOG aTOU®Y oV Ba. popovoay vo {ovv otn 060 EAgvbepioc.

On Jump Street, there are 9 houses in a row. At least one person lives in each house. Any
two neighboring houses together are inhabited by at most six people. What is the largest
number of people that could be living on Jump Street?

(A) 23 (B) 25 (C) 27 (D) 29 (E) 31

# 16. H Aovkio ko 1 umtépa g yevvnoniay kot ot dvo tov lavovdpro. Av orjuepa ftay 21
Maopriov, 2015, 1 Aovkia TpocBétel To £T0g TG NUepOUNViag yEvvnong g, To £T0G TNG
NUEPOUNVIOG YEVVIIONG TNG UNTEPAS TNG, TNV NAKia TNG Kot TV NAkia g untépag tg. [Toto
OTOTELEC IO TTAUPVEL;

Lucy and her mother were both born in January. If today was March 21, 2015, Lucy adds the
year of her birth, the year of her mother’s birth, her age, and her mother’s age. What result
does she get?

(A) 4028 (B) 4029 (C) 4030 (D) 4031 (E) 4032

# 17. To gpPadod evog opboymviov ivor 12 cm?. Ta puikn tmv TALLPGOV TOL £ival guotkoi
apBpoi. Tote n mepipeTpog avtod ToL ophoywviov Ha propovoe va eivar:

The area of a rectangle is 12 cm? The lengths of its sides are natural numbers. Then, the
perimeter of this rectangle could be:

(A) 20 cm (B) 26 cm (C) 28cm (D) 32cm (E) 48 cm

# 18. Eyovue tpia dtapoavn guALa xopTiod OTmS @aivovTal Tolo Katw. Mmopovue poévo va,
oTpiyovpe Ta Tpio KOPPATIO XOpig va Ta dmAdcovpe. Metd ta Bdlovpe akpBdg o éva Tavm
070 GAL0. [Towog eivar 0 PéY1oTog duVaTOC aPlOUOC LODPOV TETPAYDV®Y TA, OTTOIN, LITOPOVY VL
@oivovtol 6To oYNUATICOUEVO TETPAY®VO, 0V TO PAETOVE amd TAV;

We have three transparent sheets with the following patterns. We can only rotate the three
sheets without turning over. Then we put them exactly on top of each other. What is the
maximum possible number of black squares seen in the obtained square if looked at from
above?

e

(A)5 (B) 6 C) 7 (D) 8 (E) 9
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KANGOUROU MATHEMATICS COMPETITION
Level 5-6

# 19. Ze o sakovia vdpyovy 3 mpdoiva Piia, 5 Kitpva uniia, 7 mpdoiva oxAadio kot 2
kitpva oyAdadia. O Xipog Taipvel otny TOYXN ePOVTO amd Tr GOKOVA KaBe popd Eva. I1oca
(QPOVTO TPETEL VOL TAPEL ATTO TI GOKOLAN MOTE VO, EYEL TOVAAYIOTO £Vo, LINAO KOl EVOL AYAGOL TOV
13iov YpdUATOC;

In a bag there are 3 green apples, 5 yellow apples, 7 green pears and 2 yellow pears. Simon
randomly takes fruits out of the bag one by one. How many fruits must he take out in order to
be sure that he has at least one apple and one pear of the same colour?

(A)9 (B) 10 (©) 11 (D) 12 (E) 13

# 20.'Eva véo moyvidl okakt pe movi Kavykovpov €xet dnpovpyndei. Le kdbe kivnon,
petaxveiton 3 tetpdymva Katakopuea kot 1 opiloviia, 1§ 3 tetpdyova oplovria kat 1
KOTOKOPLPO, OTTMG Paivetal to oxnua. [Totog eival o eAdyiotoc aplBpdc KIViGEDY TOL
Koavykovpod dote va petaxivnfel and v apyikn tov Béom ot Béon A.

A new chess piece "kangaroo” has been introduced. In each move, it jumps either 3 squares
vertically and 1 horizontally, or 3 squares horizontally and 1 vertically, as shown in the
picture. What is the minimum number of moves the kangaroo needs in order to go from its
current position to the square marked with A?

A

/[’A\

(A)2 (B)3 (C) 4 (D)5 (E)6

5 povadeg — 5 points ‘

#21. Xe owtd T0 AOpOIGHO TO 1010 YPALLOTO OVTITPOGMOTELOLY TA id10 YN @i Kot S1apopETIKE
YPOUUOTO OVTITPOCHOTEDOVY SLoPOPETIKG yMoia. [Totd ymeio sival to ypdupo X;
In this sum, equal letters represent equal digits, and different letters represent different digits.
Which digit is represented by the letter X?
¥

+ X

+ Y Y

Z Z Z

(A)2 (B)3 (C) 4 (D)5 (E) 6

# 22. H I'dvva ayopooe 3 matyviole. o 1o mpdTo motyviol TANpooe ot amd To ¥pruoTo TG
ouvv 1 gupd. ' To devTEPO oY VIOl TANP®GE PIGE 0T TOL LVTOAOUTA YPTLOTA CLV 2 EVPA.
Téhog, Yo To TpiTo MO VIOl TANPOCE TO PGH 0d TO VIOAOUTA XPIIATA GUV 3 EVPD, £TCL
E60eye Ol To yxprpata tnG. [1oca ypApata giye apyikd 6€ EVPW;

Jane bought 3 toys. For the first toy she paid half of her money and EUR1 more. For the
second toy she paid half of the remaining money and EUR2 more. Finally, for the third toy she
paid half of the remaining money and EUR3 more, thus spending all of her money. How much
money did she have initially in euro?

(A) 36 (B) 45 (C) 34 (D) 65 (E) 100
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KANGOUROU MATHEMATICS COMPETITION
Level 5-6

# 23. H Kdapha 6érer va dnpiovpynoet Eva kOPo amd 1o avimtuype tov og yapti. Katd Adbog
oyedilace 7 teTpdymva 6Tto Yopti avti yia 6 tetpdywva. [loto tetpdywvo tpénel va Konel dote
10 Yapti va petvel evopévo ko 11 Kdpla va propet va Suthdacet 1o xapti yio vo onpovpynoet
éva, K0Po;

Carla wants to fold a cube from a paper net. By mistake she drew 7 squares on her sheet
instead of 6 squares. Which square can she remove so that the figure remains connected and
Carla can fold a cube from it?

1[2]3]
[4]5]6
L]
(A) 4 povolonly 4 (B) 7 uovolonly 7 (C) 31 4 udvolonly 3 or 4
(D) 31 7 puovolonly 3 or 7 (E) 3,47 7 povolonly 3,4 or 7

# 24. O apBpdc 100 rorramiactaleTon pe to 2 1| pe 10 3, PETA TO AmOTEAEG O AVEAVETAL LIE TO
1 M pe 1o 2 kau petd to véo amotéreoua dropeitan pe to 3 M) to 4. To teAikd anotéhecya eival
@uoKog aptpoc. oo givar to Tehkd omoTéleou,

The number 100 is multiplied either by 2 or by 3, then the result is increased either by 1 or by
2, and then the new result is divided either by 3 or by 4. The final result is a natural number.
What is this final result?

(A) 50 (B) 51 (C) 67 (D) 68
(E) Yrdpyovv nepiocodtepa and éva amotérespa/ There is more than one possible final result

# 25. X éva teptoymoto apBuo ABCD , ta ymoeia A,B, C, kau D Bpiockovian og avéovoa
dtdtaén and apiotepd wpog to de€id. [lowd eivan i peyarvtepn dvvarty dapopd BD — AC tov
dwynewev apBuony BD kot AC;

In a 4-digit number ABCD, the digits A, B, C, and D are in increasing order from left to
right. What is the largest possible difference BD — AC of the 2-digit numbers BD and AC?

(A) 86 (B) 61 (C) 56 (D) 50 (E) 16

# 26. H Mapia ypdaopet éva apiBud oe kdbe £dpa evdg kbPov. Metd, yuo kabe kopven,
pocBétel Toug apBpovs TV TPLOV £dpdV 01 omoieg popdlovTal TNV Kopuen (Yo TapAdELY L,
v TV kKopuen B mpocbitel tovg apiBpong tawv edpdv BCDA, BAEF ka1 BFGC) . Ot apiBuoi
7ov voroyilovrat amd v Mapia yuo tig kopveéc C, D kot E givar 14,16 ko 24, avtictoyo.
[Towov apBpod vroroyilel yio tnv kopven F;

Mary writes a number on each face of a cube. Then, for each vertex, she adds the numbers

on the three faces which share that vertex (for example, for vertex B she adds the numbers on
faces BCDA, BAEF and BFGC). The numbers computed by Mary for vertices C, D and E are

14, 16 and 24, respectively. What number does she compute for vertex F?
D C

A B

E F

(A) 15 (B) 19 (C) 22 (D) 24 (E) 26
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KANGOUROU MATHEMATICS COMPETITION
Level 5-6

# 27.'Eva tpaivo xet 12 Bayovia. To kdbe Boaydvi Exet Tov 1610 apBpd dwopepicpatov. O
MuydAng To&1devel oto Tpito Pfaydvi kot 6to 18° dapépicpa amd T punyovi tov tpoivov. H
IMavva kabioe oto 7 Baydvi kot 6o Stapépiopa S0° amd v punyavin tov tpaivov. I[oca
dwpepiopata vrapyovv e kébe Paydvy,

A train has 12 coaches. Each coach has the same number of compartments. Mike is travelling
in the third coach and in the 18th compartment from the train engine. Jane sat in the 7th coach
in the 50th compartment from the engine. How many compartments are there in each coach?

(A) 7 (B) 8 (©)9 (D) 10 (E) 12

# 28. Me moG0vg TpdTOVG popeig va tomobetioels 3 Kavykovpoo og tpia Stopopetind KouTid
MGTE VO, unv yertovehouvv onotadnmote dvo Kaykovpoo;

In how many ways can you place the 3 kangaroos in 3 different cells so that no 2 kangaroos are
neighbors?

LI R

TR MR N
SV 3V 3V

(A) 7 (B) 8 (©)9 (D) 10 (E) 11

# 29. Téooepa onueio Ppiokovral oe pia gvbeia ypouur. Ot amootdoelg peta&d Tovg , o€
avéovoa ddtaén eivat: 2, 3, Kk, 11, 12, 14. TTowa  Tyur| Tov k?

Four points lie on a line. The distances between them are, in increasing order: 2, 3, k, 11, 12,
14. What is k?

(A)5 (B) 6 €7 (D)8 (E)9

# 30. O Baoiing ypnoyonoince pkpois koPovg mhevpds 1 yio va kataokevdost £va kOBo e
mievpd 4. Metd €Bawye 3 €0peg Tov peydAov KOPOV Le KOKKIVO YpdLLa Kot TIG AALES TPELg E0peg
ue ypopo umAé. Iocot pkpoi koot £xovv TOVTOYPOVE KOKKIVES Kl UTAE EOPEG;

Basil used small cubes with side 1 to construct a cube with side 4. After that, he painted 3
faces of the big cube red and the other 3 faces blue. After he finished, there was no small cube
with 3 red faces. How many small cubes have both red and blue faces?

(A) 0 (B) 8 (C) 12 (D) 24 (E) 32
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KANGOUROU SUMMER MATHEMATICS CAMP 2015

24 — 29 July / louAiou 2015

Rodon Mount Resort, Agros
=evodoxeio Podov, Aypdg

For students of age 9-14 (4" — 9" grade)
[a pabnréc nAikiag 9-14 rwv (A’ Anuortikou — I’ 'uvuvaaoiou)

PROGRAMME / MPONPAMMA

DAY / MEPA 1
Arrivals / Agiceig

DAY/ MEPA2-5
Math lessons / Mabriuata padnuaTtikwy
Games / Naixvidia
Sports / ABAoTTaidiEg
Communication in Science and Mathematics
ETmikoivwvia otnv €MOTAPN KAl TA JABnUaTIKA
Swimming / KoAupTi
Competitions / Alaywviouoi
Village Tour / Zevdynon oTo Xwp16

DAY / MEPA 6
Departures / Avaxwproeig

For more information, please visit our website www.ThalesCyprus.com or contact
us at 99222701
Deadline to submit the application form: 15 June 2015

[a TTEPIOTOTEPES TTANPOYPOPIES, ETTIOKEPTEITE TNV I0TOCEAIdA PaG
www. ThalesCyprus.com 1 €mKoIVWVAOTE padi pag oto 99222701
TeAeuTaia nuepounvia uttoBoAng aitoswv: 15 louviou 2015



http://www.thalescyprus.com/
http://www.thalescyprus.com/

